IRONRIDGE Standard Hex Mid Clamp

=
| @
KIT, 4PCS, MID CLAMP , HEX
Item Number Component Qty in Kit
| Clamp, Mid 4
2 Bolt, 1/4-20 4
3 Nut, Flange Hex 1/4-20 SST 4
KIT, 4PCS, MID CLAMP , HEX
Mill Part Number | Black Part Number Description / Length Bolt Length
29-7000-105 29-7000-105B KIT, 4PCS, MID CLAMP A/B/I/L, 2.00", HEX 2.00"
29-7000-101 29-7000-1018B KIT, 4PCS, MID CLAMP C/D/J/E/M, 2.25", HEX 2.25"
29-7000-108 29-7000-108B KIT, 4PCS, MID CLAMP F/K/G, 2.50", HEX 2.50"
29-7000-104 29-7000-104B KIT, 4PCS, MID CLAMP H 2.75”, HEX 2.75"

1) Clamp, Mid

—{ 150 [~

Geled

25

12

&:% :g:l
21— .
Property Value
Material 5052-H32 Aluminum

Finish Ml

v1.0




v1.0

c

2) Bolt, 1/4-20

16—

— 17420 THDM

—~—— SEE TABLE
Property Value
Material | 300 Series Stainless Steel
Finish Clear

3) Nut, Flange Hex 1/4-20 SST

44

1/4-20 THD ;(I
@ .59

Property Value
Material | 300 Series Stainless Steel
Finish Clear




